R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213\FL-15213.12-18.dwg, FL-15213.16

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain
Rustic / Mahogany

Series N Fiberglass Door

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010Florida Building Code
(FBC) structural requirements excluding the "High Velocity Humicane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment fo
base material shall be beyond wall dressing or stucco.

When used in areas requiring wind bormne debris protection this product is required to be

protected with an impact resistant covering that complies with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry consiruction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

—

Typical elevation, design pressures, & general notes

Door panel details

68.00" MAX. OVERALL

FRAME WIDTH

37.50" MAX.

FRAME WIDTH

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.50" MAX. OVERALL FRAME HEIGHT - OUTSWING

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction

INSWING

68.00" x 82.00"

21.00" x 63.00"

7.00" x 63.00"

Frame anchoring - 1X buck masonry construction

V| |N|ON |G| |WIN

Bill of materials, glozing detail & components

OUTSWING

68.00" x 80.50"

21.00" x 63.00"

7.00" x 63.00"

Gl

+48.0

15.25" MAX.
FRAME WIDTH

-50.0

+50.0

-50.0

Documents E'roparod By:

C:}'(Z.— Tte2

P.O. Box 230 Valrico FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.

Phone No.: 813.659.9197
Florida Board of Professional Engineers
Certificate Of Authorization No. 9813

Ry

PLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN

PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

oate: 02/16/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.16

sweer 1 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SANYLINENDD SNIOUME "MW 21028 @

8OPSH 'ON "I'd “IPIUYDS *J uopull SNOISIAZY ©
TR ey .
oz BT STVLIA TNV 3004 Ad VA JONI ] slselo] =19
c1g6 -on Topozuoyiny yo eipounsen X MW bl ] L i
sioeuibul [DUOIBSEI0Ld 1O PIDOE DPMOLY ATEWISSY d0 LMvd = b
L6L6'6GO°CLE TON suoud 4000 SSYi943did .W_, . g0 2_
SeSCE 4 SouIPA DEZ X8 O-d \h\w@, “ONI 0MdLSVd S| |ElEle
"ONI ‘SINVLINSNOD ONIGTING : i m i W & m
g _pesodeug syuswnaog <LONaoHd S m 5
o
O
o
6 o
: :
” I m
o s 9
\ & == ‘._..V . Q
2
@ 5 :
£ ®
S ¥ ©
5 = («)
Bt _.mm.m j\
LA LT = 8
! =
B =
1 28
. y f
e « g m A
1] % m
> S — =P
O &2
= * 3¢ A
“ 0 [~ :@W. F i w
4 | s
/a1 o : &
(4% I/4 o oz i
Q O U & =
[« [n'4 o) 3 )
£ 5 2 - 5.
Pt
S 52
5 : ®
O T — L60 f=—
B m
! S
5 RE
1+. 215
0 * Tl:m,m;.lv m
T 2
N : 2
= MM
S : o
, 5
WIS
+ t_.%._L =8
45
=z
8¢ AU
—d =) O
™o
- i
=9 W = e
83d m
~0
RS |
THOEH O XYW .00°e9
LHOEH 1ENVYd 4000 XYW ST 6L

91z ‘BMP'8T-ZT°£1ZST-1N\0T0R\sBumeIq Jamy "a\z8ST 4d\009T - 105T foud\siopjod 1a{oid\s1oa(0ld - ¥\



J
a gn(\\
INTERIOR gB 22N
N -ﬁ‘;r‘:hclo-
PR %o"f T Z
L L8 S
- 3> 8%
S S |~ 29054
ey — I ) SR
— g;%% sf‘é“
: E53%¢ees
“ §3sii,
Gl)  EXTERIOR : gs
55 P 28
/ 1"\ HORIZONTAL CROSS SECTION 8

Lyndon F. Schmidt, P.E. No. 43409

3/
&) & 0
13.75" MAX. & E
- SIDELITE 281 ©
7.00" MAX. PANEL WIDTH o
D.LO. WIDTH | : Y/ Sals =
LO. p 7/ ] [
(75}
INTERIOR EXTERIOR in] S
- Y/ - 2[4 =
e =)
- /4 8 5 2
3 b~
[« o] 24
: 1.19" (:Y// & &
el = » [~ I 0.98" g
X o 55 %
» i
1 I 8 b *
< O 3 S 0 i | AR |
[+ 8 ek ! e . — e .
[H] — o
= 2 i i & R .
i o b
= ] 51 ) SIDELITE TOP & BOTTOM RAIL HINGE & LATCH STILE LATCH & HINGE STILE a o
e Cellular PVC Sidelite stile Sidelite stile /A
o Celiular PVC Wood reinforcement - NII o
E— =
«
[}
] =
. pate: 9/5/08
Q scAlE:  N.T.S.

DWG. BY: DT

. SIDELITE PANEL CHK, BY: LFS
/ 2"\ VERTICAL CROSS SECTION BRAVING 03

\é/ FL—-15213.16

SHEET _3_OF _9_

© 2018 R.W. BUILDING CONSULTANTS IND.




R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 4.16

U4 MIN, |
EMB. {TYP.)
gl T o Noiéﬁ
1 INTERIOR /
1 v: : ‘ ///
N \ \ /\ 4/
ST A v.v ‘ g
S | ] I ® EXTERIOR
T e
. | o1
< — ] |~ CSINK
PN (vP)

/"1 "\ HORIZONTAL CROSS SECTION

N

Qutswing shown inswing
also approved

/"2 HORIZONTAL CROSS SECTION

\é// Outswing configuration

EXTERIOR

INTERIOR

q

INTERIOR

NOTE:

1. Sidelite panel secured to the sidelite
frame with (4) of item #M located
10", 30.5", 51" and 71.5" from top of
each jamb and (2) of item #M in
the head, 3" from each end

SEE
NOTE 1

AT

13

40 27

7“3\ HORIZONTAL CROSS SECTION

W Outswing configuration

(3

N

EXTERIOR

1-1/4" MIN.
EMB. (TYP.)

M)vorer | 7.

/A

6 Ldb

m HORIZONTAL CROSS SECTION
w Shown w/1X sub-buck

SEE
NOTE 1

=

&

Y

SEE
NOTE 1

o s

/ 4\ HORIZONTAL CROSS SECTION

\\‘/ Inswing configuration

8
40 7
EXTERIOR
— —
INTERIOR
40

=

27

S¢

/"5 "\ HORIZONTAL CROSS SECTION

w Inswing configuration

A4y Ny |

@ @
2 £, g
o B ©
9m £ <+
r4 o
= i g @ .
- ]
- g Zz
c® B Z
TP
Hfe 38 o
2 5m 8% .
R o
Zow 6 ¢ k-]
580 a2NE
mON; £
v%ﬁz“‘s%\)'g
$ £ .
§ 9 .825 b
G.--oOU
EHI TN
o @ B o
g U £
8 gvt =
€ TP
] 0 @
e i
3
8
o
7]
=
Q
S
[n'd
s @
O
=5 1%2)
17
LR
30 EES
Galg ©
gn:w:(‘
[T 177 e
llmgz
s S S
ey
3 S| ¥
B
o o =
o o
pon
[aa]
172}
=
O
]
ol
[
fu
<L
[on]
O
=
DATE02/16/12
SCALE:  N.T.S.
CHK. BY: LFS
DRAWING NO.:
FL-15213.16

sHeer 4 oF 9

© 20712 R.W., BULDING CONSULTANTS NG,



TOM| BANVATINENOD SNIQTING "My 2108 @

8OPEY ‘ON F'd IPIUUDG ‘J uOpUA] SNOISIAZY ©
€7erz T 20AL SNOLLOTS SSOMO TvouwaA (A8 4V O slelo| =@
S186 ‘ON uoRPZUSIRNY JO SIDOYRISD - NSy oM
ieouiBuU] [DUCISSPOI] JO PJDOT DPLOL ATGNISSY MO Ldvd mm -~ . 1?“ s
LBLE'BSO'CLE 'ON Budld 4000 SSV19¥3dld W.r z ~ 2w 5_
S6SEE 14 O9UIBA OFZ X8 '0'd \Symm. "ONI 0YdLSY1d S|, |5|&|g
ONI ‘SLNVLINSNOD ONIaTHNG . i m N i m 2B
kg pespdedd SusSWINDOQ -10Naodd & m W W &
(‘dAL) "aw3
NIW F/ -1

AE

e
.A”. (a7 ("4
SR o O
M [»'4 [a'4
| /- -
: zl § = 5
| 5 5
< |
... . ﬁ “ “ n
T 23 28
. Ol& OlT
v D SiE] Gle
. b7 e
g |2 —[E
<« _ A lm A (& ]
= Jdlg
v % = m m = m
mw =l =5 = > &
= =
e e f e

(*dAL) "gw3
"NIW /-1

("dAL) g3
"NIW /1L

("dAL)
~=— INIS.D
S0
(a7 [a
o = O =
a2 O o Q
= m o = m
Zl w8 z 9 -
| & ol
gt E
ae| & G| D
O|33 Ot
oles : o|2
S | =
= 0 &l
. Sgg . ’ 83
4.,
= = , o
a H . - . - ,., ‘
(dAL) awa _|
"NIW F/1-1

91'G ‘BMP'8T-ZT'€1ZS T-1H\0T0T\sBumerq Jamy "a\vesT 4d\009T - 1051 (oid\siapjod pafoid\sefold - v\



1-1/4" MIN,

%
§ 8.8
[~
grw £p U9
PEERAA
- . . < v 9 a = 2 0@ B 2 Z‘
»vq' .9 < a ,‘> - - < 5:&-’%5% E
RIS TR P EE 8 IENE
'. . 9 .4v e »v @ o ; - zO"‘u—M 2
AR ‘ - N ) < < :f.-qa B ca : o SSQEEE E
=2 g o a §2§f;f\‘$
. = N 82g55°
o E Bok oS _§
®O— A
OF== 7% S0 @ &t g h
S 8
| O ®
| — M | — — LLJ
! \®SEE | 7 \®I§JEOETE1 g
X — NOTE | o 2
=z
GE @ NOTE: @ g8 3
@ ‘\@ 1. Sidelite panel secured to the sidelite @ "\@ R I
frame with (4) of item #M located 2 g = 2
/4 10", 30.5", 51" and 71.5" from top of /4 = o2 %
EXTERIOR INTERIOR sachjomb and (2) of flem #Min EXTERIOR INTERIOR Qg_%g 3
(2 VERTICAL CROSS SECTION 5|8 B
Sh 1X sub-buck
/ 1\ VERTICAL CROSS SECTION \8_/ Shown w/iXsub-buc 2 |s
W Outswing shown - inswing o o
also approved =
m
EXTERIOR INTERIOR
EXTERIOR INTERIOR
Y/
(21) | ;
=
20) 2
2
- ol
= o
mi s e
: T <z
o O3 i - o
a4 ' T Z%
e A . L
B ’ S ’g‘
T 2 g : . d
=
pate: 02/16/12
scAlE: N.T.S,
DWG. BY: JK
(3" VERTICAL CROSS SECTION cuk. v, LFS
\_8_/ Oulswing shown - inswing (4 \ VERTICAL CROSS SECTION DRANRG 1O
also approved \\j‘/ Inswing configuration FL-15213.16
SHEET 6 OF _9

R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 6.16

© 2012 RW. BUILDING CONSULTANTS IND.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 7.16

&
A ol e
4" v_.’ _‘___411
T T T &
= [ I |
g Il ~
) ? _ Ii NI
MASONRY TYP. HEAD f
OPENING & JAMBS Ii
1l |:’
= MULLION ==
2XBUCKA I\, sHOWNFoR Al <
I REFERENCE Il 3 LE)
S R |
= I I
o I I
i | (-
V. T \ Il
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

|
|

Fd

Cacd

HINGE JAMB

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.
2. Concrete anchor locations at the cormners may be adjusted to maintain the min. edge

distance fo mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to mainiain the min. edge distance fo mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

ITw 1/4" 1-1/47 2-1/2" 3"
ELCO "/4" 1-]/4" "“ 4»:
Imw 3/16" 1-1/4" 2-5/8" 2-1/4

6“

N
Ty
?

- e

MASONRY
OPENING WP.HEAD& T T
JAMBS %
A 3 iz
FRAME $5- =5
& z & Z
2X BUCK1 o |- —
e
=2 TYP. @SILL
L ” i T
FRAME ANCHORING

Masonry 2X buck construction

LATCH & DEADBOLT DETAIL

|

41.25"

. .
55 —=| |

STRIKE JAMB

\\

/
ik

‘{';

“
=11

W\
|\

HINGE DETAIL

N
[¢]
o £ a2
B 8m \F
Om Egp 2
2 N 2a N
LEE PR
EQQEZ&
O C ]
] 5] .
ggggtﬁ\ﬁ
e O ) E
&*Dﬂgﬂ-é '(:)
g%éz ‘0‘2 [77]
§8 .85 w
§592 3 £
E Raa md 5
o [+} )
g O €
8 S TE 3
[~ i P
] 28
E @ Lo
=
[+]
[+]
[a]
><
SFS
b
=5
[+ [
o8| £
Z0 °c2>
ocn>._. %U
&
SIEE
52z 3
SEIW ER
ao? §
e ]
54 O| xiX
5O
[m) = =S
o & @
2 < O
o o
&
)
pd
)
2]
ol
v
=
S
o
Z
paTE: 02/16/12
scale: N,T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15213.16
SHEET /7 oF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 8.16

|

5 |]

— [
-
&
i

s
HINGE JAME
CONCRETE ANCHOR NOTES:

L _ & —
H 4‘, -Aq»" .:’_ ";4'."1, 4;’"‘:4“‘4/ —— :"—3"
R | 1
R T %
;;7”*~ =~ TYP.HEAD & T
MASONRY JAMBS
OPENING
&
> -
< Z 0z
=8 > |
n < Z
FRAME 7 =3 - =5
3=z
O
WP @ &
BUCK \ MULLIONS
o TYP. @ SILL
—
| P l L
FRAME ANCHORING

Masonry 1X buck construction

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted fo maintain the min. edge distance fo mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are nof exceeded.

3. Concrete anchor table:

mw /4

1-1/4"

2-1/7°

3"

mw 3/16°

1-1/4°

2-5/8"

2-1/4

s
‘|-
wy

[
STRIKE JAMB

A\

|\

‘.I'J

= /

—(©)
=)

W\
A\

HINGE DETAIL

LATCH & DEADBOLT DETAIL

2- (?"’A

0
o £ 2
9 §aNF
R £z
Z ‘aw o
= gk g9 .
LEEFIE:
gom.’ﬁz A
B ety
HEe s8N
D o BB .
7] e g o
Zow 5EM 2
e 1) 80
. i E
588 E
v%%z"éi A
£8%¢ps
225658 .
L TR
o 5] 2
o Y £
8 § v & >
[ T
@ o @
L
2
&
S
'
[
==
e O
=
=) >
290 -3
=0 (DFE
20 22
] =]
TEEN
ga:m O
Lt 0| <fe
Lmy <=z
e Lo W
5|8 32
2 ol &
2l |E
o o
po
[as)
(72}
=
©
N
i
=
<
3
O
=
patE: 02/16/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15213.16

sHeer 8 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.12-18.dwg, 9.16

75"

4.56"

= 4.56" -

0.75"

S —

122" =

N

244 !

HEAD & SIDE
Jamb

213" —=

1.22"

213" —

[

HEAD & SIDE
Poly fiber jomb

BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL
A | 1XBUCKSG >=0.55 WOOD
B_| 2XBUCKSG >= 0.55 WOOD
C | 1/4" MAX._ SHIM SPACE -
D | 1/4"X 2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL
£ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F_| 1/4" X 2-3/4" PFH TW CONCRETE SCREW STEEL
|| 1/4"X 2-1/4" PFH TW CONCRETE SCREW STEEL
J_ | 1/4" X 3-3/4" PFH TW CONCRETE SCREW STEEL
K_| #10 X 2" PFH WOOD SCREW STEEL
L | #8X2-1/2" PFH WOOD SCREW STEEL
M_| #8 X 2" PFH WOOD SCREW STEEL
7 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
8 | COMPRESSION WEATHER STRIP QLON 850 BY SCHLEGEL FOAM
9 | 4" X 4" BUTT HINGE STEEL
10 | #9 X 1" PFH WOOD SCREW STEEL
11 | #9 X 3/4" PFH WOOD SCREW STEEL
13 | #8 X 1-1/2" PFH WOOD SCREW STEEL
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18| KWIKSET DEADBOLT - SIGNATURE SERIES ({780) STEEL
20 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
21 | POLYFIBER JAMB COMP. / VINYL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
29 | SIDELITE SPACER PVC
30 | INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL
31 | OUTSWING BUMP THRESHOLD ALUM. / WOOD
32 | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. PVC
33 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
34 | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
35 | SHOE MOULD 5/8" X 3/8" WOOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 | DOOR SKIN {MIN. 0.075" THICK] FIBERGLASS
42 | TOP RAIL CELLULAR/PVC
43 | LATCH & HINGE STILE CELLULAR/PVC
44| REINFORCEMENT WOOD FOR LOCKS (20" LONG] WOOD
45 | BOTIOM RAIL CELLULAR/PVC
46 | POLYURETHANE FOAM BY NAN YA POLYURETHANE
47 | CONTINUOUS LATCH & HINGE STILE REINFORCEMENT WOOD
49 | GLAZING COMPOUND SILICONE
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS SILICONE
51 | SIDELITE TOP & BOTTOM RAIL BY NAN YA CELLULAR/PVC
55 | LIP LITE_ ODL/WESTERN REFLECTIONS HP POLYPROPYLENE
56 | GLAZING SPACER ALUM.
57 | #8x 1-1/2" PFH LITE FRAME SCREW STEEL

( : > ADJUSTABLE INSWING THRESHOLD

5.63"

4.56"

1.38

e

. ADJUSTABLE INSWING THRESHOLD

0.5" GLASS
BITE

55

37 QUISWING BUMP THRESHOLD

— T"MIN.
GLASS THK.

1/8" TEMPERED

/ GLASS

| «—AIR SPACE

OPTIONAL
DECORATIVE INSERT

sm SPACE
1/8" TEMPERED

GLASS

57

. GLAZING DETAIL

é%’/Za P2

P.0. Box 230 Valrico FL. 33595
Lyndon F. Schmidt, P.E. No. 43408

BUILDING CONSULTANTS, INC.

Phone No.: 813.659.9197
Florida Board of Professional Enginsers
Certificate Of Authorization No, 9813

Ry

Documents Prepared By:

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS, GLAZING
DETAIL & COMPONENTS

BY

REVISIONS

=
S
o
Z
2

oaTE: 02/16/1

ScALE:  M.T.5.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15213.16

SHEET _9 OF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



